QUANTITY  PART DESCRIPTION

4 ARM - SMM MATTE FINISH CARBON FIBER

| TOP PLATE - 2MM MATTE FINISH CARBON FIBER

1 BOTTOM PLATE — 3MM MATTE FINISH CARBON FIBER

| FRONT ARM BRACE - 5SMM MATTE FINISH CARBON FIBER

2 CAMERA VERTICAL PLATE — 2.5MM MATTE FINISH CARBON FIBER

1 FRONT ATTACHMENT BULKHEAD - BLACK TPU

| KNURLED M3 ALUMINUM STANDOFF X 28MM LONG - BLACK ALUMINUM
KNURLED M3 ALUMINUM STANDOFF X 22MM LONG - BLACK ALUMINUM
M3 LARGE DIAMETER FLANGE STANDOFF X 17MM LONG - BLACK ALUMINUM
M3 MALE / FEMALE STANDOFF X 6MM LONG - BLACK PLASTIC

M3 NUT — BLACK PLASTIC

M3 PHILLIPS HEAD SCREW X 8MM LONG — BLACK PLASTIC

M3 X 4.5MM OD X 4MM LONG ALUMINUM SPACER

M2 SOCKET HEAD SCREW X 5MM LONG - STEEL

M2 SOCKET HEAD SCREW X 10MM LONG - STEEL

M2 WASHER - STEEL

#4 X 1/2" SHEET METAL SCREW — STEEL

M3 WASHER - SILVER ALUMINUM

SOCKET HEAD SCREW X 8MM LONG (170,000 PSI HIGH ALLOW STEEL BLUE)
SOCKET HEAD SCREW X 12MM LONG (170,000 PSI HIGH ALLOW STEEL BLUE)
SOCKET HEAD SCREW X 14MM LONG (170,000 PSI HIGH ALLOW STEEL BLUE)
SOCKET HEAD SCREW X 8MM LONG (70,000 PSI STAINLESS STEEL SILVER)
RUBBER GROMMET

VELCRO BATTERY STRAP — CATALYST MACHINEWORKS AWESOMENESS

A 0O 0O M 0O N N N N M M 00 00 DN

I\)_l_l
oo



